YEAR & - DEVELOPING NUMBER. ..
T Number Sense

'Whatdolneedtobeable

| I
| I
| tO do? I | Significant: Place value of mportarce :
59 the. end of this wit you should be able to: | : Round: Making a number simpler but keeping its vale close to what it was I
Round numbers to powers of 10 and |sf : | Decimal: Place holders after the decimal point |
Il |

Il |

Il |

Il |

Il |

Overestimate: Rounding up — gives a solution higher than the actual value
Underestimate: Rounding down — gives a solution lower than the actual valve
Metric: O system of measurement
Balarce: The amount of money in a bank dccount

I_Deposit: Putting money into a bank account

I

I

: . Round numbers to any dp

| * Estimate soltions

|« Cakulte using order of operations
| Cakulate with money, units of

| measuremertt and time

: . - ; r . 037 to |significant figure 5 04
| GO T G0 5400 A 000037 to | sificant figure i 00004
|

|
I | Round to the first non-zero number

L |
I T T S
I Round to powers of 10 and |sig figure o If the rumber s haffay between we ‘round up” 370to I'significant figure s 400 :
: 37 to | signficant figure s 40 |
| 7497 1o the nearest 1000 547% to the nearest 100 5475 o the nearest 10 3710 |signficant figure is 4 :
! !

I

I ROUY\d to decimal places  2.46192 < Foous on the rmbers || Estlmate the calculation Round to | significant figure to estimate I
| “To ldp" —to one rumber after the decimal after the decimal port |

I
I
| ‘To 2dp" — to two rumbers after the decimal I | 42+67 =4+7 = [l This is an overestimate because the 67 was rounded up more |
: 240192 (1o 1dp) - th ceser o 24 or 25 2.4 0192 tT:: shovb«s : | \The equal sign changes to show t 15 an estimation :
| 2.4 * " :{Urtno Zr 5\3 || A4x 3.1 ~20x3 =60 Thsisan underestimate because both valves were rounded downl
I I
| 2.46192 to 12dp) - & ths chser to 246 or 247 246! 192 Ths showstre || ft is good to check al caloulations with an estimate n all aspects of maths — it I
| - ; . V\number is closer | helps you idertify calculation errors I
| (246 247 0446 |l |
—_————ee—ee— e ————— a - -
: Order of operations o || Cakulations with money Y :
| )
: Bf mkets Operations in brackets are. cakculated first | I Deblt - You have £0 or more in an account Money cakulations are to ‘ - — \ :
| Othﬁf operations eg powers, rools, : Cf dt Adp % g @Q‘ Gty |
el - Youhave less than £0 in an account R
| Muttipication/ Division , : |
| They are carried out in the order from kft to right in the = g5 v [ elmesgagn |
| question Using a calevlator — ensure you are. working in the e, 5 ‘.b E |
I 4 ; correct units T, |
Odaition” Suptraction £130+50- 130+ 50 (n perce) £1- 100 & T
They are carried out in the order from kft to right in the - p R 2 7
= 130 + 050 (in povinds) |
IE)estlon ]
U e portan. eilvmwss 5, W ma o w w
| P mm cm m m g kg T ml L
L -0 -100 +1000 oo oo 000
D gt T T T T r--——— === —— ==
| Metric measures of length |1 Time and the calendar % L2 Merths - e e - 52 vk Lgy= 24 bowrs |
| Kilo = 1000 x meter Centi - ﬁ X meter | | e S8 31 days — Jan, March, May, July Thour - €0 mintes |
| | R W Oug, Oct, Dec [ minute — 60 seconds |
| 1 I | | Year — the amount of time it 50 datgs — Ol Jore, Sept, Nov |
Ml - o5 mefer | | tokes Earth to go around the 28 daus — Feb (29 leap year)
_____________ _! I sun 365 (and a quarter) days I week — 7 dis Use a number Ine for |
| ______________ 7 Leap Year — 366 daus (every Monday, Tuesday, Wednesday, time. calculations! |
Umtg Of Welqht / capoatu : Ongioote. Cock 4 wears) Thursday, Friday, Saturday, Sunday :
gyl
: Weight (@ kg t | : : = W( i @l )Dmm Ceck (24-hou tnes) ~ 24-hour clock :
Capacity (volume of lquid) = m| L °\ o Veamfmomng andpm fatemoon) - A e 0 moming hours)
L | L " Onose botmes ipto = l « 12-23 (ofternoon hours) |



